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AW–2631
B.Com. Part–II (Semester–III) Examination

AUDITING

Time : Three Hours] [Maximum Marks : 80

Note :—All sections and all questions are compulsory.

SECTION—A

I. Multiple choice questions. Only first attempted answer will be assessed. 20×1=20

(1) The main object of an audit is :

(a) Expression of opinion
(b) Detection and prevention of fraud and error
(c) Depend on the type of audit
(d) Both (a) and (b)

(2) Audit in depth is a synonymous for :
(a) Complete audit (b) Completed audit
(c) Final audit (d) detailed audit

(3) Audit of Banks is an example of  :
(a) Statutory audit (b) Continuous audit
(c) Balance Sheet audit (d) Both (b) and (c)

(4) Manipulation of accounts to show a better position is called as :
(a) Window dressing (b) Error of omission
(c) Error of commission (d) None of the above

(5) Routine checking can ensure :
(a) Arithmetical accuracy (b) Correctness of balance sheet
(c) Recording of transactions (d) Fraud free accounts

(6) Which document is not relevant for vouching cash sales ?
(a) Daily cash sales summary (b) Salesmen's summary
(c) Monthly statement sent to customers (d) Bank statement

(7) Patents are depreciated by :
(a) SLM (b) WDV
(c) SF (d) All of the above

(8) Fixed assets are valued at :
(a) Cost (b) Cost or market value whichever is less
(c) Market value (d) (a) and (b)

(9) The right of the auditor is to :
(a) Access books of accounts (b) Attend general meeting
(c) (a) and (b) (d) None

(10) The audit working papers are the property of :
(a) Board of Directors (b) Shareholders
(c) CEO (d) Auditor
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(11) The auditor must be :
(a) Director (b) CA
(c) ICWAI (d) ICS

(12) The first auditor is appointed by :
(a) Banker (b) Shareholders
(c) Board of directors (d) None of  the above

(13) The date of auditor's report should not be :
(a) The date of AGM
(b) The date of appraisal of account by the board
(c) Both (a) and (b)
(d) Earlier than the date on which the accounts are approved by the management

(14) If the auditor after verifying the necessary documents and books of accounts is satisfied
regarding the correctness of the accounts, he gives a :
(a) Qualified report (b) Clean or unqualified report
(c) No opinion report (d) Adverse report

(15) When an auditor expresses his opinion that the financial statements do not exhibit true
and fair view of the state of affairs of the company, his report is said to be :
(a) Qualified report (b) Unqualified report
(c) No opinion report (d) Negative report

(16) If on any point the auditor is not fully satisfied, he should suitably qualify in his report.
Such report is :
(a) Unqualified report (b) Qualified report
(c) No opinion report (d) Negative report

(17) Banking companies carry business as per :
(a) Banking Regulation Act (b) Companies Act
(c) Co-operative Societies Act (d) All the above

(18) Solvency margin is excess of  :
(a) Assets over liabilities (b) Liabilities over assets
(c) Current assets over current liabilities (d) All of the above

(19) Insurance business is regulated by :
(a) Banking Companies Act (b) Co-operative Societies Act
(c) IRDA (d) All of the above

(20) A demand loan is considered NPA after :
(a) 45 days (b) 30 days
(c) 90 days (d) 120 days

SECTION—B

II. Short answer type questions : 5×4=20

(1) (a) Define Audit.

OR

(b) Which are the different types of Audit ?
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(2) (a) What is Audit Programme ?

OR

(b) Explain ‘Valuation of Assets.’

(3) (a) How is Company Auditor appointed ?

OR

(b) Describe the duties of Company Auditor.

(4) (a) Explain divisible profit.

OR

(b) Write a note on ‘Auditor's Clean Report.’

(5) (a) Write four points of Bank Audit.

OR

(b) Write four points of Insurance Audit.

SECTION—C

III. Long answer type questions : 5×8=40

(1) (a) Explain the objectives of audit.

OR

(b) Explain advantages of continuous audit.

(2) (a) Explain the need of internal check system.

OR

(b) Explain valuation of liabilities.

(3) (a) Write qualifications of Company Auditor.

OR

(b) Elaborate the liabilities of Company Auditor on the basis of court decision.

(4) (a) What is Audit Report ? Write types of Audit Report.

OR

(b) What is role of company auditor in Divisible Profit ?

(5) (a) While doing Bank Audit, what points should be taken care of by company auditor?

OR

(b) How is audit of Educational Institutes done ?
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AW–2631
B.Com. Part–II (Semester–III) Examination

AUDITING

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½
lwpuk :— loZ foHkkx vkf.k loZ iz'u lksMfo.ks vko';d vkgs-

foHkkx—v
I. cgqi;kZ;h iz'u vusd i;kZ; lksMfo.;kl dsoG ,dp i;kZ; riklyk tkbZy o ekdZl~ fnGs tkbZG-

20×1=20

(1) vads{k.kkpk eq[; mís'k  vkgs %
¼v½ er iznf'kZr dj.ks ¼c½ pqdk oyckM+h 'kks/kwu dkB.ks o vkGk ?kky.ks
¼d½ vads{k.kkP;k izdkjkoj voyacwu ¼M½ ojhy ¼v½ vkf.k ¼c½

(2) foLr`r vads{k.kkpk vFkZ Eg.kts %
¼v½ iw.kZ vads{k.k ¼c½ iw.kZr% vads{k.k
¼d½ vafre vads{k.k ¼M½ ifjiw.kZ vads{k.k

(3) cWdsps vads{k.k gs ,d mnkgj.k vkgs %
¼v½ oS/kkfud vads{k.k ¼c½ lrr vads{k.k
¼d½ rkGscankps vads{k.k ¼M½ nksUgha ¼c½ vkf.k ¼d½

(4) ys[kk iqLrdkae/khy yckMh m?kMdhl vk.k.ks ;kyk Eg.krkr %
¼v½ foUMks Mªslhax ¼c½ pwd fdaok oxG.ksa
¼d½ O;ogkjkP;k uksanh e/khy pwd ¼M½ ojhyiSdh dks.krhgh ukgh

(5) uSR;hd ijh{k.k [kk=h nsrs %
¼v½ vadx.khrh; vpwdrk ¼c½ rkGscankrhy nq:Lrh
¼d½ O;ogkjkaph nSfud uksanh ¼M½ [kkrsoghrhG /kksdk eqDr O;ogkj

(6) [kkyhyiSdh dks.krh uxnh foØhP;k ikorhph laca/khr izys[k ukgh \
¼v½ njjkst gks.kkÚ;k foØhpk lkjka'k
¼c½ foØh drkZaP;k lkjka'k
¼d½ xzkgdkyk njeghU;kyk ikBfo.;kr ;.kkjs fooj.k
¼M½ cWd fooj.k

(7) ,dLokf/kdkjkps voewY;u dsys tkrs %
¼v½ SLM ¼c½ WDV
¼d½ SF ¼M½ ojhyiSdh loZ

(8) LFkk;h laiÙkhps ewY; fu/kkZjhr gksrs %
¼v½ ewG fdaerhus ¼c½ ewG fdaok cktkj ewY;kus
¼d½ cktkj ewY;kus ¼M½ ¼v½ vkf.k ¼c½

(9) vads{kdkps vf/kdkj vkgs %
¼v½ [kkrsogh rikl.ks ¼c½ lHksyk gtj jkg.ks
¼d½ ¼v½ vkf.k ¼c½ nksUgha gh ¼M½ ojhyiSdh ukgh
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(10) vads{khr dsysyh dkxni=s ------------------- ph laiÙkh vkgs-
¼v½ lapkyd eaMG ¼c½ va'k/kkjh
¼d½ eq[; dk;Zdkjh vf/kdkjh ¼M½ vads{kd

(11) vads{kd vlyk ikghts %
¼v½ lapkyd ¼c½ pkVZMZ vdkÅVaV
¼d½ ICWAI ¼M½ ICS

(12) izFke vads{kdkaph fu;qfDr dsyh tkrs %
¼v½ cWd }kjs ¼c½ va'k/kkÚ;krQsZ
¼d½ lapkyd eaMGk}kjs ¼M½ ojhGiSdh ukgh

(13) vads{kd vgokykph rkjh[k vlko;kl udks %
¼v½ loZlk/kkj.k lHksph rkjh[k
¼c½ lapkyd eMykaP;k ewY;ekiukph rkjh[k
¼d½ ojhy ¼v½ vkf.k ¼c½ nksUgha
¼M½ izca/ku eaMykus ekU;rk fnY;kP;k vxksnjph rkjh[k

(14) tj vads{kd ys[kk iqLrdkaps vkf.k egRoiw.kZ izys[kkaph rikl.kh dsY;kuarj lek/kku gksr vlsG rj vads{k.k
vgokG nsrks %
¼v½ vkn'kZ vgoky ¼c½ Li"V fdaok ik= ulysyk vgoky
¼d½ er iznf'kZr u djrk fnysY;k vgoky ¼M½ udkjkRed vgoky

(15) daiuhph foÙkh; fooj.ksa [kjh fLFkrh iznf'kZr d: 'kdr vlY;kl vads{kd vgoky lknj djrks %
¼v½ ik= vgoky ¼c½ ik= ulysyk vgoky
¼d½ er iznf'kZr u dj.kk ¼M½ udkjkRed vgoky

(16) tj vads{k.k iw.kZi.ks lek/kkuh gksr ulsy rj rks vgoky vlrks %
¼v½ vik= vgoky ¼c½ ik= vgoky
¼d½ er iznf'kZr u dj.ks ¼M½ udkjkRed vgoky

(17) cWdhax O;olk; ------------------ }kjs dsGk tkrks-
¼v½ cWdhax jsX;qys'ku vWDV ¼c½ daiuh dk;nk
¼d½ lgdkjh lferh dk;nk ¼M½ ojhy loZ

(18) Solvency Margin P;k is{kk tkLr vlrs %
¼v½ ns;rs is{kk laiÙkh ¼c½ laiÙkh is{kk ns;rk
¼d½ py laiÙkh is{kk pG ns;rk tkLr ¼M½ ojhyiSdh loZ

(19) foek daiuh ------------------- P;k }kjs fu;fer dsyh tkrs-
¼v½ cWdhax dk;nk ¼c½ lgdkjh laLFkkdk;nk
¼d½ IRDA ¼M½ ojhyiSdh loZ

(20) dtkZÅ jDde NPA Bjrs ----------------- P;k dkGko/khuaÙkj %
¼v½ 45 fnol ¼c½ 30 fnol
¼d½ 90 fnol ¼M½ 120 fnol

foHkkx—c
II. laf{kIr mÙkjs fygk % 5×4=20

(1) ¼v½ vads{k.k ladYiuk fygk-
fdaok

¼c½ vads{k.kkps izdkj fygk-
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(2) ¼v½ vads{k.k dk;ZØe Eg.kts dk; \
fdaok

¼c½ laiÙkhps eqY;kadu Li"V djk-
(3) ¼v½ daiuh vads{kdkph fu;qDrh fygk-

fdaok
¼c½ daiuh vads{kdkph drZO;s fygk-

(4) ¼v½ forj.k;ksX; ykHk ;kcíy fygk-
fdaok

¼c½ vads{kdkpk LoPN vgoky Li"V djk-
(5) ¼v½ c¡dsP;k vads{k.kkckcrps pkj eqís Li"V djk-

fdaok
¼c½ foek daiuhP;k vads{k.kkckcrps pkj eqís fygk-

foHkkx—d
III. lfoLrj mÙkjs fygk % 5×8=40

(1) ¼v½ vads{k.kkph mfí"Vs Li"V djk-
fdaok

¼c½ lrr vads{k.kkps ykHk Li"V djk-
(2) ¼v½ vkH;arj vojks/k iz.kkyhph vko';drk Li"V djk-

fdaok
¼c½ ns;rkaps eqY;kadu dls djrkr rs Li"V djk-

(3) ¼v½ daiuh vads{kdkph ik=rk fygk-
fdaok

¼c½ daiuh vads{kdkph U;k;ky;hu drZO;s Li"V djk-
(4) ¼v½ daiuh vads{kdkpk vgoky eg.kts dk; gs lkaxwu vads{k.k vgokykps izdkj fygk-

fdaok
¼c½ forj.k;ksX; ykHkkckcr daiuh vads{kdkph Hkwfedk Li"V djk-

(5) ¼v½ cWdsps vads{k.k djrkauk vads{kdkus dks.kR;k ckch riklY;k ikfgts rs fygk-
fdaok

¼c½ 'kS{kf.kd laLFkkaps vads{k.k dls djrkr rs lfoLrj fygk-
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AUDITING

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½
lwpuk :— lHkh foHkkx rFkk lHkh iz'u vfuok;Z gSaA

foHkkx—v
I. cgqi;kZ;h iz'u izFke iz;kl dks gh vafdr fd;k tk;sxk A 20×1=20

(1) ys[kkijh{k.k dk eq[; mís'; gS %
¼v½ er iznf'kZr djuk ¼c½ xyfr;ka <wa<uk o lgh djuk
¼d½ ys[kkijh{k.k ds izdkj ij fuHkZj ¼M½ ¼v½ vkSj ¼c½ nksuksa

(2) foLr̀r ys[kk ijh{k.k dk vFkZ gS %
¼v½ iw.kZ ys[kkijh{k.k ¼c½ iw.kZr% ys[kkijh{k.k
¼d½ vafre ys[kkijh{k.k ¼M½ ijhiw.kZ ys[kkijh{k.k

(3) cSad ys[kkijh{k.k dk ;g mnkgj.k gS %
¼v½ oS/kkfud vads{k.k ¼c½ fujarj vads{k.k
¼d½ rqyuki= vads{k.k ¼M½ ¼c½ vkSj ¼d½ nksuksa

(4) cgh [kkrs esa ls /kks[kk/kM+h lkeus ykus dk eryc %
¼v½ foUMks Mªslhax ¼c½ xyrh ,oa pwd
¼d½ O;ogkj ds uLrhdj.k esa xyrh ¼M½ mijksDr esa ls dksbZ ugha

(5) ^uSfrd ijh{k.k* Hkjkslk nsrk gS %
¼v½ vadxf.krh; vpwdrk ¼c½ rqyuki= dh nq#Lrh
¼d½ O;ogkj dh nSfud uLrh ¼M½ cgh[kkrs ds /kksdkeqDr O;ogkj

(6) fuEu esa ls dkSulk uxn fcØh izys[k ugha gS \
¼v½ nSfud fcØh lkajk'k ¼c½ fcØhdrkZ dk lkajk'k
¼d½ xzkgd dks gj ekg fn;k tkusokyk fooj.k ¼M½ cSad fooj.k

(7) ,dLof/kdkj dk voewY;u fd;k tkrk gS %
¼v½ SLM ¼c½ WDV
¼d½ SF ¼M½ mijksDr lHkh

(8) fuf'pr laiÙkh dk ewY; fu/kkZj.k gksrk gS %
¼v½ vlyh dher ¼c½ vlyh vkSj cktkj ewY;
¼d½ cktkj ewY; ¼M½ ¼v½ vkSj ¼c½

(9) ys[kk ijh{kd ds vf/kdkj gSa %
¼v½ cgh[kkrs tkapuk ¼c½ lHkk esa mifLFkfr
¼d½ ¼v½ vkSj ¼c½ nksuksa ¼M½ mijksDr esa ls dksbZ ugha

(10) ys[kkijh{k.k fd;s nLrkost ---------------- dh laifÙk gSA
¼v½ lapkyd eaMy ¼c½ Hkkx/kkjd
¼d½ eq[; vf/kdkjh ¼M½ ys[kkijh{kd
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(11) ys[kkijh{kd ---------------------- gksuk pkfg;sA
¼v½ lapkyd ¼c½ pkVZMZ vdkmaVaV
¼d½ ICWAI ¼M½ ICS

(12) izFke ys[kk ijh{kd dh fu;qDrh dh tkrh gS %
¼v½ cSad }kjk ¼c½ Hkkx/kkjd }kjk
¼d½ lapkyd }kjk ¼M½ buesa ls ugha

(13) ys[kk ijh{k.k fooj.k dh rkjh[k ugha gksuh pkfg;s %
¼v½ loZlk/kkj.k lHkk dh rkjh[k ¼c½ lapkyu eaMy ds ewY;ekiu dh rkjh[k
¼d½ mijksDr ¼v½ vkSj ¼c½ ¼M½ izca/ku eaMy ds ekU;rk ds iwoZ dh rkjh[k

(14) vxj vads{kd ys[kkiqLrd tkapus ds ckn larq"V fooj.k nsrk gS rks mls dgrs gSa %
¼v½ vkn'kZ vgoky ¼c½ Li"V vkSj vik= vgoky
¼d½ er dks iznf'kZr u djrs fn;k gqvk vgoky ¼M½ udkjkRed vgoky

(15) foÙkh; fuxe dh fooj.k oLrqfLFkrh iznf'kZr uk dj lds ,sls oDr ys[kkijh{kd tks fooj.k nsrk gS A og %
¼v½ vik= fooj.k ¼c½ ik= fooj.k
¼d½ er iznf'kZr u djuk ¼M½ udkjkRed fooj.k

(16) vxj ys[kk ijh{kd larq"V u gks rks og fooj.k nsrk gS %
¼v½ vik= fooj.k ¼c½ ik= fooj.k
¼d½ er iznf'kZr uk djuk ¼M½ udkjkRed fooj.k

(17) cSafdax O;kikj -------------------- }kjk fd;k tkrk gSA
¼v½ cSad jsX;qys'ku ,DV ¼c½ daiuh ,DV
¼d½ lgdkjh lferh ,DV ¼M½ mijksDr lHkh

(18) Solvency Margin blls vf/kd gksrk gS %
¼v½ nkf;Ro ls T;knk laiÙkh ¼c½ laiÙkh ls T;knk nkf;Ro
¼d½ py laiÙkh ls py ns;rk vf/kd ¼M½ mijksDr lHkh

(19) chek daiuh ------------------ }kjk fu;fer dh tkrh gSA
¼v½ cSafdax dk;nk ¼c½ lgdkjh laLFkk dk;nk
¼d½ IRDA ¼M½ mijksDr lHkh

(20) dtZ jk'kh ------------------- bl dkyo/kh ds ckn NPA dh tkrh gSA
¼v½ 45 fnu ¼c½ 30 fnu
¼d½ 90 fnu ¼M½ 120 fnu

foHkkx—c
II. laf{kIr mÙkj fy[ksa % 5×4=20

(1) ¼v½ vads{k.k dh O;k[;k fyf[k;sA
vFkok

¼c½ vads{k.k ds izdkj fyf[k;sA
(2) ¼v½ vads{k.k dk;ZØe ;kus D;k \

vFkok
¼c½ laiÙkh dk ewY;kadu Li"V dhft;sA

(3) ¼v½ daiuh vads{kd dh fu;qfDr Li"V dhft;sA
vFkok

¼c½ daiuh vads{kd ds drZO; fyf[k;sA
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(4) ¼v½ forj.k ;ksX; ykHk fyf[k;sA
vFkok

¼c½ vads{kd ^LoPN vgoky* Li"V dhft;sA
(5) ¼v½ cSad vads{k.k ds pkj eqís Li"V dhft;sA

vFkok
¼c½ chek daiuh ds vads{k.k gsrq pkj eqís fyf[k;sA

foHkkx—d
III. foLrkjiwoZd mÙkj fyf[k, % 5×8=40

(1) ¼v½ vads{k.k ds mfí"V fyf[k;sA
vFkok

¼c½ lrr vads{k.k ds ykHk Li"V dhft;sA
(2) ¼v½ vkH;arj vojks/k iz.kkyh dh vko';drk Li"V dhft;sA

vFkok
¼c½ ns;rk dk ewY;kadu dSls djrs gSa Li"V dhft;sA

(3) ¼v½ daiuh vads{kd dh ik=rk fyf[k;sA
vFkok

¼c½ daiuh vads{kd ds U;k;ky;hu drZO; Li"V dhft;sA
(4) ¼v½ daiuh vads{kd dk vgoky ;kus D;k \ ;g crkdj vds{k.k vgoky ds izdkj fyf[k;sA

vFkok
¼c½ forj.k;ksX; ykHk ds dk;Z esa daiuh vads{kd dh Hkwfedk Li"V dhft;sA

(5) ¼v½ cSad dk vads{k.k djrs le; fdu ckrksa dk /;ku j[kuk pkfg;s oks fyf[k;sA
vFkok

¼c½ 'kS{kf.kd laLFkkvksa dk vads{k.k dSls fd;k tkrk gS foLrkjiwoZd fy[ksaA
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